2 TI9oAl AD 7t A 9] o] 5B o],
AABC = 63cm? ¥ 0], AABD 9] Yo]& 13
o2},




thg 1ol AD 7} /A 9 o] 5HAlo]
1, AABC = 77cm? & W], AABD 9] Yo

9

@ 38cm? @ 40cm? @ 42cm?

@ 43cm? B 44cm?



3. the 804 AD = /A 2] o]5BAHo]1 AB = 5em , AC = 4em
otk AABD 2} AACD 9] YWlo|& Z+2F Sy, So gt & o, Sy : Sp =7




4.

o}e 781 ZHo] AD & /BAC 9] o
d ™, AABD 9} AACD 9] B o] H]

@ 2:3 @ 3:4
@ 9:16 B) 27 - 64



5.  Th& 18fA AD & /A 9] o] 5E Aotk AABD 9] Hol& 12cm?
ot AACD 9] Yol&?

@ 18cm? @ 20cm? @ 2lcm?

@ 924cm? 3B 27c¢m?2



7k ABC oA 417+ ABD 9] ¥lo|7} 25cm? U of

7+ ADC 9]

?

1

5}0]:

A}
=]

@ 9cm? @ 10cm?

® 8cm?

B 15cm?

@ 12cm?



oh& 170 AD & /A 9] ol 5EAelr AABD 9] Hol+ 12em?
olth. AABC 9] Hol+&?

@ 25cm? @ 30cm? @ 40cm?

@ 45cm? ® Ecm2



8. T 7oA AD = /A 9] o5& olth AACD 2] Yo 30cm?
o|t}. AABC 9] Ho]:9

@ 18cm? @ 30cm? ® 38cm?

@ 45cm?2 5B 48cm?2



9. & 1A AD = /BAC 9] o]5E o], AB =9, AC = 6
oltt. AABD 9] Ylo]& aq 21l & wf, AADC 9] Yo]5 g of #5}o]
e H?




10. & I A AD &= /BAC &) o]5EAHo|71, AB =28, AC =6
olth. AADC 9] HlolE a 21l & wfj, AABD 9] Ho|E a °f #ote
e H?

@ 2a @ 3a ® -a @



11. aABC 914 /A 9] o] 52413 ¥ BC ¢ & D 2t € |, AABD
9] glo]7} 28cm? ©]H, AADC 9] Hol|? ’

@ 14cm? @ 18cm?2 ® 21cm?



12. aABC 9|4 /A 9] o] 52413 ¥ BC ¢ & D 2t € |, AABD
9] ¥lo]7} 30cm? ©]H, AADC 9] Hol|&?

@ 20cm? @ 22cm? @ 24cm?

@ 26 cm? B 28 cm?



13. AABC Al /A 9] o]5E M7} ¥ BC o] w &L D g & uf, AABD
o] Yol7} 24cm? o, AADC 2] §o]& FL5}todat,




14. AABC oA (A 9] o] 5247 ¥ BC ¢ & D 2 & uf, AABD
9] Wol7} 88cm? ©|H, AADC 2] Hlo]& 1slolz}.




SwAlelal, AB :
o, 4

LA 9] 9]

ACD 9] ¥ o]7F 40cm? 2

o 1H 9] AZtE ABC ©4 AD

ABD

B
N
o

—

1@0
N
e

15

"_

AC=5:3 0|t}

52

=E

o ol

9/0!

—CIm

50

®

@ 10cm?

® 8cm?

cm?



16. thS 139 AZ+g ABC oA AD & /A 9] o]S K AMo]1, AB :
Vel : o}t A ACD 9 Yolrt 12em? € of, 423d ABD

0

AC=6:50°]
o yolg Fa}w?
A
B D C
@ 14cm? @ Ech ® %CIHQ

@® 10cm?2 3B 22¢m?2



17. oF& el A AD = /A o] ol 52 Aolth AABC o Wol7} 48em?
2w, AABD ©] Hol?

@ 9cm? @ 18cm? @ 27cm?

@ 32cm? 3 36cm?



18. the 2ol A AD £ A o o]5EA0lch. AABC 9 Wol7t 40em?
2w, AABD ©] Hol?

@ 16cm? @ 18cm? @ 27cm?

@ 32c¢m? 3 32cm?



19. & A AD £ /BAC 9] o] 5E%

L
[*]

13,AABC 9] Yo]& 4

B ?

® —a @ —a ® —a @ —a © fa



20. i% OHL2 /C=90° 1 A2t ol1l A D = /A 9] o] 524t
BC ¢te] w&o|tt, AB = 10cm, BC = 8cm, AC = 6cm & T
SADC 9] Hol2 7519 ’

@ 8cm? @ 9cm? @ 10cm?2



21. th& 179 AABC oA AD 7} £A 9] o] FHA410]aL, AABC 9] Wol
7} 35cm? & W, AABD 2} AADC 2] Y o] 2] Z}=?

A

@ 7cm? @ 9cm? @ 14cm?

@® 921cm? 3B 24cm?



22. oS 199 AABC 9|4 (EACQ] o5&
A& D 2} skAE AACD 9] Yol7} 12cm?
“Fotod et

3} BC 4
o,

A
ol
=

?i

L o

g, 2ol
O

mn Rl



23. T2 O"A AD 7} /A 9] o] 5EAY wf, AABC, AACD 2] Y]
S1, Sy o] HE=?

D 5:7 @ 7:12 ® 7:5 @ 12:7 (G 12:5



24. o3& 2”7 22 AABC °lA BAD = /CAD = 45° 4 o, AABD
o] wol& Fstefzt




25. o2 I™9A AD & /A o] o5 R Ao A
AB = 3AC, AC = CF °|t}. aADC =
25cm?2 9 T, ADBE 9] Ho]& Fo}loiza}, C

B F
\%



26.

the 104 AD & /A 9] o]5RAMo] 1
AB = 3AC , AC = CF °Jt}. aADC =
30cm? & w, ADBE 9] ¥o]& #5}H?
D 50em®2 @ 60cm? @ T70cm?

@ 80cm? G 90cm?2




27. ©& I9olA AD & /BAC 9] o]F241°]1, AABC 9 WolE a
2tal & o, AABD 9] H°lE a ol ¥5te] HERH?




28.

o2 ¥ 22 AABC 9]
A AD = /A 9] o] 524l o},
AABC 9] Hol7F66 cm? A o,
AACD 9] Yol & +otofa}.




29.

AABCOA /BAC 9] o] 5E42 AD
o],
AB : AC = 4 : 30|t}. AABD =
42cm? ¥ W, AACD 9] Hlo]&E 5}
SE




30.




31.

th& 29 BPAPEE ABCD o4 AD : DQ : QC = 9: 6 : 2
o] /D ] o]5-E410] BC 9 #hhe & P 2hil @ uf, nABCQ 9
HoliE aD0Q ©f ol o B ufjel] Fafolet,




